CJP series

Recommended Mounting Hole Dimensions for Embedded Type

When embedded

(mm)
Boresize gy e | A | B | C | D E Fla
- ELTh_ (mm)
— ! ) <—aAir 5 |12 | 85| 6
J:ﬁ;ri-v— 4 10 [20 |165]14 | 35| M8x1.0 | 65| 3
15 |28 |245 ]2
[ 2 — 5 |16 [125] 10
6 10 [23 [195]17 | 35 |Mioxi10| 85| 3
Machining dimensions x | 15 |30 | 265 |24
for mounting NI B2 Dbl od 5 |17 [135] 105
- |
N == ring sea 10 10 | 23520 |17 |35 |Mi5x15|12 |4
1 15 | 305 |27 |24
-
o I N 5 |19 [145] 115
—f—- A
%] \ i 15 10 |25 | 205|175 | 45 | M22x15 |19 | 5
15 | 315 |27 |24
Note) E and oF should be machined in a concentric manner.
Dimensions: Panel Mount Type
CJPB4  Exhaustport NN M3x05
g Rodendnut
OD
4
o) F @ I
o Iy
Q)
L H |
% W (mm)
A F_|E -
Bore size F
H s wm) |A|B| C |E gTionqe] & | H [ K| MM
74 4 | 6[10[115] 3 [13 |21 [29 | 65] 75 | —[M2x04
o
CJPBS, 10, 15 3 6 | 7]12]|139]| 6 [125|19.5(265] 85[ 9 [35|M3x05
Exhanst port 1561 60.5 NN M5x08 10 [10]19[22 | 6 [145]|21 |28 |12 [12 [35|M4x07
:x aust por ﬁmb,ﬁ}m MM E \ @ 15 [12]27]31 [ 7 [165[225]29 [19 [14 [42]m5x038
=4 Valis: I im 5 o Bore size S z
° q (mm) NN R 5st | 10t | 158t w 5ot [ 10t [ 158t Q
Hose nipple 4 M8x 1.0 716 |24 |32 3 |23.5|31.5(39.5| 2
dWit(};o:l ; aoeu'ne“r"‘%y“aeg:ﬁm M10x1.0| 9[18.5|255|32.5| 3 |27.5(34.5|415| 3
rodiend thres CLEHS.( ) donls 10 |Mi5x1.5][13[205/27 [34 | 4 [325[39 [46 | 5
Rod end nut the dimensions of 1 M22 x 1 20 |2 2 7
Reloro pago b. 13 (12)| o4 5 x1.5[20|235[29.5]36 | 5 [37.5[485]50 | 6
Dimensions: Embedded Type
CJ PS4 Exhaust port NN
<
= o)
5] )
3 ¢4
o]
S gf 1
J 8
W lLH | (mm)
F E Bore size F
S wm) |A|B| C |E gTionqe] & | H | K| MM
z 4 | 6[10[115] 6 [10 [18 [26 | 65| 75 [35]M2x04
CJPS6, 10, 15 6 | 7]12][139] 6 [125]195]265] 85| 9 [35|M3x05
Exhaust port  26: C0.5 - 10 [10]19]22 | 6 |145]21 |28 [12 [12 [35|m4x07
/ S 15 [12]27[31 [ 7 [165]225]29 [19 [14 [42[mM5x08
&
<] & Bore si S z
(0] ore size|
° a (mm) b1 R e o5 | W[5 [0 [15¢] @
o 4 [ mex1.0 ]| 7[16 |24 [32 | 3 [235]31.5]395] 2
LR | Fodl eidl thread 6 |M10x1.0| 9[185|255(325] 3 |27.5|345]415] 3
B Fodiend nul 10 |M15x1.5[13[20.5/27 [34 | 4 [325|39 [46 | 5
“Refer to page 36. 15 |M22x1.5] 20 [23.5/295[36 | 5 [37.5]435[50 | 6

38






